<{table>
{thead>
<tr>
</t
{/thead>
{tbody>
<tr>
DT A= LA E % ST/ thy
L/t
<tr>
o 2= )LER5R12</th>
<At
<
BT 8 LI 5% (A ENEHRERRT) D<U/th>
<S>
<tr>
Box 8- L5 & (MRS FEHRERT @</th>
</t
<tr>
MO 2= L5 & (AR EHREEHE ) DUt
¥,
<tr>
Box 2= L 5% (FIES EHREEE) @</th>
</t
<tr>
51</thy
</tr>
<tr>
51</th>
</tr>
<tr>
B1<¢/thy

<th colspan="2">Ef & </th>
<th> R TE BFZI</th>
<th>EtCO2</th>

<th colspan="2">#fiE& - VT
<td> 12853097 </td>
<td>40mmHg</td>

<th colspan="2">{fi % - 2T
<{td>13FF3043 </ td>
<td>45mmHg</td>

<th colspan="2">#FE#&- VT
<td> 12653043 </td>
<td>40mmHg< /td>

<th colspan="2">}fiE& -1
<td> 13853053 </td>
<td>45mmHg</td>

<th colspan="2">{EE % - VT
<td> 12853047 </td>
<td>40mmHg</td>

<th colspan="2">#E%- T
<td> 1353043 </td>
<td>45mmHg</td>

SO>I IUBDT A= )LBNE
<th>IB AR5 R/ th>

<td> 12853097 </td>
<td>40mmHg</td>

AT IUB I A LB
<th>BNIR 5 AT@)</th>
<td>12B§3045</td>
<td>40mmHg</td>

GO TUEE T AT LIBINE

<th>iB N 5% Q)< thy
<td> 12853043 < /td>
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H1/th>

codeSystem="1.2.392.200119.9.5.2000"

codeSystem="1.2.392.200119.9.5.2000"
MEIREH"/>

codeSystem="1.2.392.200119.9.5.2000"

codeSystem="1.2.392.200119.9.5.2000"
#EE5ET" />

codeSystem="1.2.392.200119.9.5.2000"

codeSystem="1.2.392.200119.9.5.2000"
®E & (W@ FHREER />

codeSystem="1.2.392.200119.9.5.2000"

codeSystem="1.2.392.200119.9.5.2000"
5 & (FIEISRHRIERT) />

codeSystem="1.2.392.200119.9.5.2000"

codeSystem="1.2.392.200119.9.5.2000"

<td>40mmHg</td>
<t
<tr>
ShIIUBD A LB IS
<th>IBINTR 5 #(2)</thy
<td>12K305 </td>
<td>40mmHg< /td>
<At
<{/tbody>
<{/table>
< text>
{entry>

<observation classCode="0BS” moodCode="EVN">
{code code="CR11290"
codeSystemName="JUMIX" displayName="FtC02" />
{effectiveTime value="200201111230"/>
{value xsitype="PQ" value="45" unit="mmHg" />
<{methodCode code="CR11300"
codeSystemName="JMIX" displayName="{fiE & -V T BT 2= )L

<{/observation>
</entry>
{entry>
<observation classCode="0BS"” moodCode="EVN">
{code code="CR11290"
codeSystemName="JUMIX” displayName="EtC0O2" />
{effectiveTime value="200201111230"/>
{value xsitype="PQ" value="45" unit="mmHg" />
{methodCode code="CR11300"
codeSystemName="JMIX" displayName="1&F&E & - VT Iz 2=)L

</observation>
{/entry>
{entry>
<observation classCode="0BS"” moodCode="EVN">
{code code="CR11290"
codeSystemName="JMIX" displayName="EtC02" />
{effectiveTime value="200201111230"/>
<value xsitype="PQ" value="45" unit="mmHg" />
{methodCode code="CR11310”"
codeSystemName="JUMIX"” displayName="{§iE & -V T EI7x 2=l

</observation>
{/entry>
{entry>
<observation classCode="0BS"” moodCode="EVN">
{code code="CR11290"
codeSystemName="JMIX" displayName="EtC0O2" />
{effectiveTime value="200201111230"/>
<value xsitype="PQ" value="45" unit="mmHg" />
<{methodCode code="CR11310"
codeSystemName="JMIX" displayName="$&E & - VT 7z 2=)L

<{/observation>
<Sentry>
{entry>
<observation classCode="0BS"” moodCode="EVN">
{code code="CR11290"
codeSystemName="JMIX" displayName="EtC02"/>
{effective Time value="200201111230"/>
<value xsittype="PQ" value="45" unit="mmHg" />
<{methodCode code="CR11320"
codeSystemName="JMIX" displayName="$&BE & - VT I3 =)L
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<{/observation>
{/entry>
{entry>
<observation classCode="0BS"” moodCode="EVN">
{code code="CR11290"
codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JUMIX" displayName="EtC02" />
{effectiveTime value="200201111230"/>
<value xsitype="PQ" value="45" unit="mmHg" />
<{methodCode code="CR11320"
codeSystem="1.2.392.200119.9.5.2000” codeSystemName="JMIX" displayName="{&& & - VT FI12=)L
5% (FEAERER)" >
</observation>
{/entry>
{entry>
<observation classCode="0BS” moodCode="EVN">
<{code code="CR11290"
codeSystem="1.2.392.200119.9.5.2000” codeSystemName="JMIX" displayName="EtC02" />
{effective Time value="200201111230"/>
<value xsitype="PQ" value="45" unit="mmHg" />
{methodCode code="CR11330"
codeSystem="1.2.392200119.9.5.2000” codeSystemName="JUMIX" displayName="$F&#H - VT BT 4 )L
EMEEGEME SR />
<{/observation>
{/entry>
<{entry>
<observation classCode="0BS"” moodCode="EVN">
{code code="CR11290"
codeSystem="1.2.392.200119.9.5.2000” codeSystemName="JMIX" displayName="EtC02" />
{effectiveTime value="200201111230"/>
<value xsitype="PQ" value="45" unit="mmHg" />
<{methodCode code="CR11330"
codeSystem="1.2.392.200119.9.5.2000” codeSystemName="JMIX" displayName="EE & -V T HI12=)L
BN ESEEMRSED />
<{/observation
{/entry>
{entry>
<observation classCode="0BS"” moodCode="EVN">
<code code="CR11290"
codeSystern="1.2.382.200119.9.5.2000" codeSystemName="JMIX" displayName="EtC02" />
{effectiveTime value="200201111230"/>
<value xsitype="PQ" value="45" unit="mmHg" />
<{methodCode code="CR11340"
codeSystem="1.2.392.200119.9.5.2000” codeSystemName="JMIX" displayName="{&&# - 9T B 7T 2=)L
EMREGEMRS®R) >
{/observation>
{/entry>
{entry>
{observation classCode="0BS"” moodCode="EVN">
{code code="CR11290"
codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JMIX" displayName="EtC0O2" />
{effectiveTime value="200201111230"/>
<value xsitype="PQ" value="45" unit="mmHg" />
<{methodCode code="CR11340"
codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JMIX" displayName="{&E & - VT BI04 )L
BMESCEMEE®) />

</observation>

{/entry>
<{/section>
<{/component>
-
st s s R KR ORKRKRRK KRR R K
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{component>
{section>
<code code="CR11510” codeSystem="1.2.392.200119.9.5.2000"
displayName="1:FER" />
<titler 1 EE < title>
<{text/>
<entry>
<observation classCode="0BS” moodCode="EVN">
<{code code="CR11510”
codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JMIX" displayName="1I>E&EH"/>
ext> RIEID BB IE/text>
{effectiveTime value="200704060000" />
{value xsitype="CD"” code="CR11140"
codeSystem="1.2.392.200119.9.5.2000” displayName="4"L-—F3" />
<{/observation>
</entry>
{entry>
<observation classCode="0BS” moodCode="EVN">
{code code="CR11510"
codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JMIX" displayName="10» X" />
<text> D ZE MR SMIRFE SR FE < text>
{effectiveTime value="200708211240" />
{value xsitype="CD" code="CR11140"
codeSystem="1.2.392.200119.9.5.2000" displayName="4"L.—K2" />
</observation>

</entry>
<{/section>
</component>
==
skoforokoffsksrok sk ok kR kR sk ok sk ok sk kR
P OR HD
SRRk R KRR KRR KRR R oK koK
==
{component>
{section>

<code code="CR11520" codeSystem="1.2.392.200119.9.5.2000"

<title > FEIR HDHI </ title>
{text/>
<entry>

displayName="MF0% NI />

<observation classCode="0BS"” moodCode="EVN">
<code code="CR11520"
codeSystem="1.2.392.200119.9.5.2000” codeSystemName="JMIX" displayName="RF B3N~ />
{text/>
{effectiveTime>
{Jow value="200703060930" />
<high value="200703061830" />
{/effectiveTime>
<value xsitype="CD"” code="CR11140"
codeSystem="1.2.392.200119.9.5.2000" displayName="3"/>
{entryRelationship typeCode="CAUS"
inversionlnd="true”>
<observation classCode="0BS"
moodCode="EVN">
<code code="CR11280"
codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JMIX" displayName="4L& " />
text> A TR0 38{E FH </text>
<value xsitype="BL"
value="true” />
<{/observation>
</entryRelationship>
{entryRelationship typeCode="CAUS”
inversionlnd="true”>
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<observation classCode=" OBS”
moodCode="EVN">
<code code="CR11270"
codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JUMIX" displayName="85i&" />
Sext>EEEREST)text>

</observation>

</entryRelationship>
{/observation>
{entry>
{/section>
<{/component>
-
ook kRl sl sk kR kR Rk
Bl -Ment-fEE
e
==
{component>
<{section>

{code code="CR11530" codeSystem="1.2.392.200119.9.5.2000”

{title> By - I@ AL - FREE /title>
{text/>
{component>
{section>
<{code code="CR11200"
codeSystem="1.2.392.200119.9.5.2000" displayName="l{#& 4 |2 RE MO TH-HEE" />
Kitle> T T CIZIRE MR RETH o -1 E

<entry>

displayName="2» - 1@t - $HFE" />

</title>

<observation classCode="0BS"

moodCode="EVN">

<code code="CR11540"
codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JMIX" displayName="F#THZE#10~20%"/>

{statusCode
code="completed” />

<effectiveTime
value="200701021010" />

<{entryRelationship
typeCode="COMP">

<observation
classCode="0BS"” moodCode="EVN">
{code
code="CR11600” codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JMIX" displayName="3:»" />
<{value

xsi:type="BL" value="false” />
<{/observation>
</entryRelationship>
{entryRelationship
typeCode="COMP ">
<observation
classCode="0BS"” moodCode="EVN">

{code
code="CR11610" codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JMIX" displayName="1@MH " />

{text>FEER
{/text>

<{value

xsitype="BL" value="true” />
<{/observation>
</entryRelationship>
{entryRelationship
typeCode="COMP">
<observation
classCode="0BS" moodCode="EVN">
{code




w5

code= CR11140” codeSystem="1.2.392.200119.9.5.2000” codeSystemName="JMIX" displayName="% L—F />
<textr 1</ text>
</observation>
</entryRelationship>
{entryRelationship
typeCode="COMP ">

{observation
classCode="0BS"” moodCode="EVN">
<{code
code="CR11620" codeSystem="1.2.392.200119.9.5.2000” codeSystemName="JMIX" displayName="$ZFE"/>
text> RERAY
{/text>
{value

xsitype="CD" code="XXXX" codeSystem="1.2.392.200119.9.5.2000" displayName="8"/>
</observation>
<{/entryRelationship>
</observation’>
</entry>
{entry>
{observation classCode="0BS"
moodCode="EVN">
<{code code="CR11550"
codeSystem="1.2.392.200119.9.5.2000” codeSystemName="JMIX" displayName="Fft7HH T #45~75%3"/>
{statusCode
code="completed” />
{effectiveTime
value="200701021050" />
<{entryRelationship
typeCode="COMP">
<observation
classCode="0BS"” moodCode="EVN">
{code
code="CR11600" codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JMIX" displayName="3&:»" />
<value
xsitype="BL" value="true” />
</observation>
</entryRelationship>
<{entryRelationship
typeCode="COMP ">
{observation
classCode="0BS"” moodCode="EVN">
{code
code="CR11610” codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JMIX" displayName="TEM"/>
<value
xsitype="BL" value="false” />
<{/observation>
</entryRelationship>
<{entryRelationship
typeCode="COMP ">
<observation
classCode="0OBS"” moodCode="EVN" >
{code
code="CR11140” codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JMIX" displayName="% L.—K"/>
{text>2<{/text>
<{/observation>
</entryRelationship>
<{entryRelationship
typeCode="COMP ">
{observation
classCode="0OBS"” moodCode="EVN">
{code
code="CR11620" codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JMIX" displayName="$&FE"/>
(text> R
</text>

383




HES

<value
xsitype="CD" code="XXXX" codeSystem="1.2.392.200119.9.5.2000" displayName="4"/>
</observation>
</entryRelationship>
</observation>
</entry>
{entry>
{observation classCode="0BS"
moodCode="EVN">
<{code code="CR11560"
codeSystem="1.2.392.200119.9.5.2000" codeSystemName="UMIX" displayName="F i %3~ 68FR1" />
. Y {statusCode
code=" completed” />
. . {effectiveTime
value= 200701021400 />
. B <{entryRelationship
typeCode="COMP ">

) . B B {observation
classCode="0BS” moodCode="EVN">
. . {code
code="CR11600" codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JMIX" displayName="TE[}"/>
<value

xsi:type="BL" value="false” />
<{/observation>
</entryRelationship>
& - {entryRelationship
typeCode="COMP ">
” w Y . <observation
classCode="0OBS"” moodCode="EVN™>

<code
code="CR11610" codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JMIX" displayName="1R& " />

{text>RHEER
{/text>

<value

xsitype="BL" value="true” />
</observation>
</entryRelationship>
. . <entryRelationship
typeCode="COMP">
. . . . <{observation
classCode=" OBS" moodCode="EVN">

<{code
code="CR11140” codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JMIX" displayName="4"L—K"/>
<text>3</text>

</observation>
{/entryRelationship>
) . {entryRelationship
typeCode="COMP ">
" B B B <observation
classCode="0OBS" moodCode="EVN">
. . <{code
code="CR11620" codeSystem="1.2.392.200119.9.5.2000” codeSystemName="JUMIX" displayName="$&%" />
{value
xsitype="CD" code="XXXX" codeSystem="1.2.392.200119.9.5.2000" displayName="4&"/>
</observation>
</entryRelationship>
</observation>
</entry>
<entry>
B B <observation classCode="0BS"
moodCode= EVN" >
) {code code="CR11570"
codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JMIX" displayName="F{7H = # 7~ 10855~ />
{statusCode

384




!

>
A=
($1)

code=" completed” />
. <{effectiveTime
value="200701021800" />
<{entryRelationship
typeCode="COMP ">
{observation
classCode="0BS" moodCode="EVN">
y - . N <{code
code="CR11600" codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JMIX" displayName=""T.10" />
<value
xsitype="BL" value="true” />
<{/observation>
</entryRelationship>
" = <{entryRelationship
typeCode= COMP" >
. . . <observation
classCode="0BS"” moodCode="EVN">
<code
code="CR11610” codeSystem="1.2,392.200119.9.5.2000” codeSystemName="JMIX" displayName="1@&M"/>
<value
xsitype="BL" value="false” />
{/observation>
<{/entryRelationship>
. . {entryRelationship
typeCode="COMP ">
B . . . <observation
classCode="0OBS" moodCode="EVN" >

<{code
code="CR11140" codeSystem="1.2.392.200119.9.5.2000” codeSystemName="JMIX" displayName="%7 L-—F" />
{text>4</text>
<{/observation>
<{/entryRelationship>

B . {entryRelationship
typeCode="COMP ">
B ) ) ) <{observation
classCode="0OBS" moodCode="EVN">
) ) {code
code="CR11620" codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JMIX" displayName="$&£E" />
{value
xsitype="CD"” code="XXXX" codeSystem="1.2.392.200119.9.5.2000" displayName="4&"/>
<{/observation>
<{/entryRelationship>
</observation>
{/entry>
{entry>
) . <observation classCode="0BS"
moodCode="EVN >
{code code="CR11580"
codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JMIX" displayName="FH7HH T 11~ 1585 />
B {statusCode
code="completed” />
. {effectiveTime
value="200701022300" />
) {entryRelationship
typeCode="COMP ">
<{observation
classCode="0BS"” moodCode="EVN" >
& <{code
code="CR11600" codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JMIX" displayName="2i[»"/>
<{value
xsitype="BL" value="false” />
<{/observation>
</entryRelationship>
{entryRelationship
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typeCode="COMP >

<observation
classCode="0BS” moodCode="EVN" >
<code
code="CR11610” codeSystem="1.2.392.200119.9.5.2000” codeSystemName="JMIX" displayName="TEMH"/>
<text>A~BR
{/text>
{value

xsitype="BL" value="true” />
</observation>
</entryRelationship>
{entryRelationship
typeCode="COMP">
<observation
classCode="0BS"” moodCode="EVN">»
{code
code="CR11140” codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JMIX" displayName="%4L-—K" />
{text>5</text>
</observation>
<{/entryRelationship>
{entryRelationship
typeCode="COMP">
{observation
classCode="0BS" moodCode="EVN">

<code
code="CR11620" codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JMIX" displayName="3$%FE" />

<text>A~BH
{/text>

<value

xsitype="CD" code="XXXX" codeSystem="1.2.392.200119.9.5.2000" displayName="3=[@§" />
</observation>
</entryRelationship>
<{/observation>
</entry>
<entry>
<observation classCode="0BS"
moodCode="EVN">
<code code="CR11590"
codeSystemn="1.2.392.200119.9.5.2000" codeSystemName="JMIX" displayName="740—Fw7F"/>
{statusCode
code="completed” />
{effectiveTime
value="200701031200" />
<{entryRelationship
typeCode="COMP">
<{observation
classCode="0BS"” moodCode="EVN">
<{code
code="CR11140" codeSystem="1.2.392.200119.9.5.2000” codeSystemName="JMIX" displayName="4"L—FE" />
{text>6</text>
<{/observation>
<{/entryRelationship>
<{entryRelationship
typeCode="COMP ">
<{observation
classCode="0BS"” moodCode="EVN">

<code
code="CR11620" codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JMIX" displayName="4&H" />

{text>HEL
</text>

<value

xsitype="CD" code="XXXX" codeSystem="1.2.392.200119.9.5.2000" displayName="4&"/>
</observation>
<{/entryRelationship>
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</observation>

<{/entry>
<{/section>
<{/component>
{/section>
<{/component>
e
o ok kR kR kR Rk oKk ok
R - 58
sofokok kKRR kKR kR KRk Rk kR Rk ko
i
{component>
<{section>
<{code code="CR11630" codeSystem="1.2.392.200119.9.5.2000"
displayName="$FK  #H{E " />
title>HERR - HEEtitle>
{text/>
{component>
<section>

{code code="CR11250"
codeSystem="1.2.392.200119.9.5.2000" displayName="1#& 9 CIZikEH R~ ->1-{higH"/
Citler# 9 I ﬁ'ﬁf.’)‘ﬁ%ﬁf’?f’?ﬁﬁ%(/tltle)
{entry>
<observation classCode="0BS"
moodCode="EVN">
<code code="CR11560"
codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JMIX" displayName="FffiHH E#H 3~ 68FE" />
<{statusCode
code="completed” />
. B {effectiveTime
value="200701021400" />
. = <{entryRelationship
typeCode=" COMP >
<{observation
classCode="0BS" moodCode="EVN">
<{code
code="CR11640" codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JMIX" displayName="4FEFR"/>
{value
xsitype="BL" value="true” />
</observation>
</entryRelationship>
” . {entryRelationship
typeCode=" COMP >
{observation
classCode="0BS"” moodCode="EVN">
<{code
code="CR11650" codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JMIX" displayName="4F{&" />
<value
xsitype="BL" value="false” />
{/observation>
</entryRelationship>
<{/observation>
{/entry>
{entry>
<observation classCode="0BS"
moodCode="EVN">
<code code="CR11570"
codeSystem="1.2.392.200119.9.5.2000" codeSystemMName="JMIX" displayName="F#{THE# 7~ 1085ME" />
{statusCode
code="completed” />
{effectiveTime
value="200701021400" />
<{entryRelationship
typeCode="COMP ">
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<{observation
classCode="0BS"” moodCode="EVN">

<code
code="CR11640" codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JMIX" displayName="$FR" />
{value
xsitype="BL" value="true” />
</observation>
</entryRelationship>

<{entryRelationship
typeCode="COMP">
{observation
classCode="0BS"” moodCode="EVN">
<code
code="CR11650" codeSystem="1.2.392.200119.9.5.2000” codeSystemName="JMIX" displayName="HF{E" />
<value
xsi:type="BL" value="true” />
<{/observation>
</entryRelationship>
<{/observation>
</entry>
{entry>
{observation classCode="0BS"
moodCode="EVN">
{code code="CR11580"
codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JUMIX" displayName="Fffi-H E 11~ 1585F" >
<{statusCode
code="completed” />
<effectiveTime
value="200701021400" />
<entryRelationship
typeCode="COMP ">
<observation
classCode="0BS"” moodCode="EVN">

{code
code="CR11640” codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JMIX" displayName="3ER"/>
{value
xsitype="BL" value="false” />
<{/observation>

<{/entryRelationship>
<entryReiationship
typeCode="COMP">
{observation
classCode="0BS"” moodCode="EVN">
<code
code="CR11650” codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JMIX" displayName="$HE"/>
<{value
xsi:type="BL" value="false” />
<{/observation>
<{/entryRelationship’>
<{/observation>
</entry>
{entry>
{observation classCode="0BS"
moodCode="EVN">
{code code="CR11590"
codeSystem="1.2.392.200119.9.5.2000” codeSystemName="JMIX" displayName="24#0—Fv 7" />
{statusCode
code="completed” />
{effectiveTime
value="200701021400" />
{entryRelationship
typeCode="COMP ">
<observation
classCode="0BS"” moodCode="EVN">
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<code
code="CR11660" codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JMIX" displayName="{8F4" />

<text>2 B R
{/text>

<value

xsitype="CD" code="XXXX" codeSystem="1.2.392.200119.9.5.2000" displayName="8"/>
<{/observation>
{/entryRelationship>
<{/observation>
</entry>
{/section>
<{/component>
<{/section>
<{/component>
Q-
okl ROk kR Rk Rk Rk Rk
RRER R E
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-
<component>
{section>
<code code="CR11670" codeSystem="1.2.392.200119.9.5.2000" displayName="ERF{RE" />
<title> BRER R 2 </title>
{text />
{component>
<{section>
<{code code="CR11680" codeSystem="1.2.392.200119.9.5.2000" displayName="1lTAlj#&&" />
<title> MTATIRE </ title>
<entry typeCode="COMP" >
<observation classCode="0BS"” moodCode="EVN">
<code code="CR11700" codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JMIX"
displayName="E MEkE" />
<text> OO O/ text>
{effectiveTime value="20070102" />
<value xsitype="PQ" value="10" unit="/p " />
{referenceRange>
<observationRange classCode="0BS"” moodCode="EVN.CRT">
<text>100-200</text>
<{/observationRange>
</referenceRange>
<{/observation>
</entry>
<entry typeCode="COMP">
<observation classCode="0BS"” moodCode="EVN">
<{code code="CR11710” codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JMIX"
displayName="7rMEKEL" />
<text> OO O text>
<effectiveTime value="20070102" />
<value xsitype="PQ" value="10" unit="1/ 1" />
{referenceRange>
<observationRange classCode="0BS"” moodCode="EVN.CRT">
<{text>100-200</text>
<{/observationRange>
<{/referenceRange>
</observation>
</entry>
{entry typeCode="COMP">
{observation classCode="0BS"” moodCode="EVN">
<code code="CR11720" codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JMIX"
displayName="~FE5 0" />
<text> OO O/ text>
{effectiveTime value="20070102" />
<value xsitype="PQ" value="10" unit="g/dl” />
{referenceRange>
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{observationRange classCode="0BS" moodCode= EVN.CRT >
{text>100-200</text>
</observationRange>
<{/referenceRange>
<{/observation>
{entry>
<entry typeCode="COMP”>
<observation classCode="0BS” moodCode="EVN">
<{code code="CR11730" codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JMIX"
displayName=""~2rZ1)wk" />
<text> QOO text>
<effectiveTime value="20070102" />
{value xsitype="PQ" value="10" unit="%" />
<{referenceRange>
{observationRange classCode="0BS” moodCode="EVN.CRT">
<{text>100-200</text>
</observationRange>
{/referenceRange>
<{/observation>
<{/entry>
<entry typeCode="COMP">
<observation classCode="0BS"” moodCode="EVN">
{code code="CR11740" codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JMIX"
displayName="[M/MR" />
ext> QOO text>
{effectiveTime value="20070102" />
{value xsitype="PQ" value="10" unit="75/ul" />
<referenceRange>
{observationRange classCode="0BS"” moodCode="EVN.CRT">
<{text>100-200</text>
</observationRange>
</referenceRange>
</observation?>
</entry>
{entry typeCode="COMP">
{observation classCode="0BS"” moodCode="EVN">
{code code="CR11750” codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JMIX"
displayName="AST" />
dext> QOO0 text>
{effectiveTime vaiue="20070102" />
{value xsitype="PQ" value="10" unit="U/1" />
{referenceRange>
{observationRange classCode="0BS" moodCode="EVN.CRT">»
<text>100-200</text>
</observationRange>
</referenceRange>
</observation>
</entry>
{entry typeCode="COMP">
<observation classCode="0BS"” moodCode="EVN">
<code code="CR11760” codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JMIX"
displayName="ALT" />
<text> QOO /text>
{effectiveTime value="20070102" />
<value xsitype="PQ" value="10" unit="U/1" />
<{referenceRange>
{observationRange classCode="0BS" moodCode="EVN.CRT ">
{text>100-200</text>
</observationRange>
</referenceRange>
<{/observation>
</entry>
<entry typeCode="COMP">
<observation classCode="0BS"” moodCode="EVN">
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{code code="CR11770” codeSystem="1.2.392.200119.9.5.2000” codeSystemName="JMIX"
displayName="#E1JLE>" />
<text> QOO /text
{effectiveTime value="20070102" />
<value xsitype="PQ" value="10" unit="mg/dl” />
{referenceRange>
{observationRange classCode="0OBS"” moodCode="EVN.CRT">
<{text>100-200</text>
<{/observationRange>
{/referenceRange>
{/observation>
</entry>
{entry typeCode="COMP">
{observation classCode="0BS" moodCode="EVN">
<{code code="CR11780" codeSystem="1.2.392.200119.9.5.2000” codeSystemName="JMIX"
displayName="BUN" />
ext> QOO /text>
{effectiveTime value— 20070102" iy
<value xsitype="PQ" value="10" unit="mg/dl” />
<referenceRange>
<{observationRange classCode="0BS" moodCode="EVN.CRT">
<{text>100-200</text>
</observationRange>
<{/referenceRange>
<{/observation>
</entry>
<entry typeCode="COMP">
{observation classCode="0BS"” moodCode="EVN">
<code code="CR11790" codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JMIX"
displayName="2LF7F=2" />
<text>Q OO/ text>
{effectiveTime value="20070102" />
<value xsitype="PQ" value="10" unit="mg/dl” />
<{referenceRange>
<observationRange classCode="0BS" moodCode="EVN.CRT">
<{text>100-200</text>
</observationRange>
{/referenceRange>
{/observation>
<{/entry>
<{entry typeCode="COMP">
<observation classCode="0BS"” moodCode="EVN">
<{code 'pode:”CRl 1800” codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JMIX"
displayName="CRP"~ />
<ext>QO O/ text>
{effectiveTime value— 20070102' />
<value xsitype="PQ" value="10" unit="mg/dl” />
{referenceRange>
{observationRange classCode="0BS"” moodCode="EVN.CRT">
{text>100-200</text>
<{/observationRange>
</referenceRange>
</observation>
{/entry>
<{entry typeCode="COMP">
<observation classCode="0BS"” moodCode="EVN">
<code code="CR11810" codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JMIX"
displayName="FRF> /32" />
{text> QOO0 text>
<effectiveTime value="20070102" />
<value xsitype="PQ" value="10" />
<{referenceRange>
<observationRange classCode="0BS"” moodCode="EVN.CRT">
{text>100-200</text>
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<{/observationRange>
{/referenceRange>
<{/observation>
{/entry>
<entry typeCode="COMP">
<observation classCode="0BS"” moodCode="EVN">
{code code="CR11820" codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JMIX"
displayName="FR#&" />
<text> OO O/ text>
{effectiveTime value="20070102" />
<value xsitype="PQ” value="10" />
{referenceRange>
<observationRange classCode="0BS"” moodCode="EVN.CRT">
<{text>100-200</text>
{/observationRange>
<{/referenceRange>
<{/observation>
{/entry>
<entry typeCode="COMP">
{observation classCode="0BS" moodCode="EVN">
{code code="CR11830" codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JMIX"
displayName="20E 1) /—4>" />
Gext>OQ OO/ text>
{effectiveTime value="20070102" />
<value xsiitype="PQ" value="10" />
<{referenceRange>
{observationRange classCode="0BS"” moodCode="EVN.CRT">
<{text>100-200</text>
<{/observationRange>
{/referenceRange>
<{/observation>
{/entry>
<entry typeCode="COMP">
<observation classCode="0BS"” moodCode="EVN">
<{code code="CR11840" codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JMIX"
displayName="2 A" />
Gext P AAANAAAAANANANANNtextd
</observation>

{/entry>
<{/section>
</component>
{component>
{section>

<{code code="CR11410"
codeSystem="1.2.392.200119.9.5.2000" displayName="240—7Fw7"/>
Ctitle> 74 A—T w < /title>
{entry typeCode="COMP">
{observation classCode="0BS"
moodCode="EVN">
<code code="CR11700"
codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JUMIX" displayName="F M Ek#" />
{text> A AN N text>
{effectiveTime
value="20070103" />
<{value xsitype="PQ"
value="150" unit="/ 1" />
{entryRelationship
typeCode="COMP">
<{observation
classCode="0BS"” moodCode="EVN">
<{code
code="CR11860" codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JUMIX" displayName="8 B Z &)
s
{value
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xsitype= BL" value="false” />
<{/observation>
</entryRelationship>
{referenceRange>
<{observationRange
classCode="0BS"” moodCode="EVN.CRT">
{text>200-
300</text>
{/observationRange>
{/referenceRange>
</observation>
{/entry>
{entry typeCode="COMP">
B B {observation classCode="0BS"
moodCode="EVN">
{code code="CR11710"
codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JMIX" displayName="7rMEk¥" />
{text> A A AN /text>
{effectiveTime
value="20070103" />
<value xsitype="PQ"
value="150" unit="_/ 1" />
” 2 <{entryRelationship
typeCode="COMP ">
<observation
classCode="0OBS"” moodCode="EVN">
B . <code
g/c:de: CR11860" codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JMIX" displayName="4 & Z &)
>
o . <value
xsitype="BL" value="true” />
<{/observation>
</entryRelationship>
<{referenceRange>
. <observationRange
classCode="0BS"” moodCode="EVN.CRT">
<{text>200-
300</text>
<{/observationRange>
</referenceRange>
</observation>
</entry>
{entry typeCode="COMP">
<observation classCode="0BS"
moodCode="EVN">
<code code="CR11720"
codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JMIX" displayName="~EZ O " />
{text> A A AN text>
{effectiveTime
value="20070103" />
<value xsitype="PQ"
value="150" unit="g/dl" />
{entryRelationship
typeCode="COMP" >
<{observation
classCode="0OBS"” moodCode="EVN">»
. . {code
E?ge: CR11860" codeSystem="1.2.392.200119.9.5.2000” codeSystemName="JMIX" displayName="H B.Z &)
<{value
xsitype="BL" value="false” />
<{/observation>
<{/entryRelationship>
{referenceRange>
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{observationRange
classCode="0BS"” moodCode="EVN.CRT">
{text>200-
300</text>
</observationRange>
</referenceRange>
</observation>
</entry>
{entry typeCode="COMP">
<observation classCode="0BS"
moodCode="EVN">
<{code code="CR11730"
codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JMIX" displayName="~Thr41)uk"/>
<text> AA A A text>
{effectiveTime
value="20070103" />
<value xsitype="PQ"
value="150" unit="%"/>
{entryRelationship
typeCode="COMP ">
<observation
classCode="0BS"” moodCode="EVN">
<code
code="CR11860" codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JMIX" displayName="%5 Z I &}
*45
{value
xsitype="BL" value="true” />
<{/observation>
</entryRelationship>
<referenceRange’>
<observationRange
classCode="0OBS"” moodCode="EVN.CRT">
<text>200-
300</text>
<{/observationRange>
</referenceRange>
<{/observation>
</entry>
{entry typeCode="COMP">
<observation ciassGode="0BS"
moodCode="EVN">
<code code="CR11740"
codeSystem="1.2.392.200119.9.5.2000” codeSystemName="JMIX" displayName="10/\{x " />
{text> A A A A text>
<effectiveTime
value="20070103" />
) <value xsitype="PQ"
value="150" unit="H/ 1" />
] {entryRelationship
typeCode="COMP ">
<observation
classCode="0BS"” moodCode="EVN">
<{code
code="CR11860" codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JMIX" displayName="# & & &)
RN
<{value
xsitype="BL" value="false” />
</observation>
</entryRelationship>
<referenceRange>
<observationRange
classCode="0BS” moodCode="EVN.CRT">
<{text>200-
300</ text>
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</observationRange>
</referenceRange>
</observation>
</entry>
{entry typeCode="COMP">
{observation classCode="0BS"
moodCode="EVN">
{code code="CR11750"
codeSystem="1.2.392.200119.9.5.2000” codeSystemName="JMIX" displayName="AST" />
{text> A A AN text>
{effectiveTime
value="20070103" />
{value xsitype="PQ”
value="150" unit="U/1"/>
<{entryRelationship
typeCode="COMP">
<observation
classCode="0BS" moodCode="EVN">
<{code
code="CR11860" codeSystem="1.2.392.200119.9.5.2000” codeSystemName="JMIX" displayName="HB.Z &)
"
<{value
xsiitype="BL" value="true” />
</observation>
</entryRelationship>
<referenceRange>
{observationRange
classCode="0BS” moodCode="EVN.CRT">
{text>200—
300</text>
<{/observationRange>
<{/referenceRange>
</observation>
</entry>
{entry typeCode="COMP">
<observation classCode="0BS"
moodCode="EVN">
<code code="CR11760"
codeSystem="1.2.392.200119.9.5.2000” codeSystemName="JMIX" displayName="ALT"/>
{text> A A A A /text>
<effectiveTime
value="20070103" />
o o <value xsitype="PQ"
value="150" unit="U/l" />
<{entryRelationship
typeCode="COMP">
{observation
classCode="0BS"” moodCode="EVN">
{code
code="CR11860" codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JMIX" displayName="H & Z &}
N
<value
xsitype="BL" value="false” />
<{/observation>
</entryRelationship>
<{referenceRange>
<{observationRange
classCode="0BS"” moodCode="EVN.CRT ">
<{text>200-
300</text>
{/observationRange>
</referenceRange>
</observation>
</entry>
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<{entry typeCode="COMP >
{observation classCode="0BS"
moodCode="EVN">
<{code code="CR11770"
codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JMIX” displayName="#2E1JJLE 2" />
{text> AA A A /text>
B B {effectiveTime
value="20070103" />
P . ) <value xsitype="PQ"
value="150" unit="mg/dl” />
) {entryRelationship
typeCode="COMP ">
. . <observation
classCode="0BS"” moodCode="EVN">
= . . <{code
‘c':?ge: CR11860" codeSystem="1.2.392.200119.9.5.2000” codeSystemName="JMIX" displayName="8H = &)
L {value
xsitype="BL" value="true” />
</observation>
</entryRelationship>
<referenceRange>
<{observationRange
classCode="0BS"” moodCode="EVN.CRT">
<{text>200-
300</text>
</observationRange>
</referenceRange>
</observation>
{/entry>
<entry typeCode="COMP">
) ) {observation classCode="0BS"”
moodCode="EVN ">
<code code="CR11780"
codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JMIX" displayName="BUN"/>
{ext > AAA A text>
. <{effectiveTime
value="20070103" />
L B B <value xsitype="PQ"
vaiue=" 150" unit="mg/dl" />
B . <entryRelationship
typeCode= COMP >
{observation
classCode="0BS"” moodCode="EVN">
{code
E?de:"CRI 1860” codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JMIX" displayName="4 B Z &)
S
L . ) <{value
xsitype=" BL" value="false” />
{/observation>
<{/entryRelationship>
{referenceRange>
. ) <observationRange
classCode="0BS"” moodCode="EVN.CRT">
{text>200-
300</text>
<{/observationRange>
</referenceRange>
<{/observation>
{/entry>
{entry typeCode="COMP">
<observation classCode="0BS"
moodCode="EVN">
<{code code="CR11790"
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codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JMIX" displayName="2LF7F=2"/>
{textr A ANAALtexty
<{effectiveTime
value="20070103" />
<value xsitype="PQ"
value="150" unit="mg/dl" />
<{entryRelationship
typeCode="COMP ">
<{observation
classCode="0BS"” moodCode="EVN">
<code
code="CR11860" codeSystem="1.2.392.200119.9.5.2000” codeSystemName="JMIX" displayName="B B ZE E}
s
<value
xsi:type="BL" value="true” />
</observation>
</entryRelationship>
<referenceRange>
{observationRange
classCode="0BS"” moodCode="EVN.CRT">
{text>200-
300</text>
</observationRange>
<{/referenceRange>
<{/observation>
</entry>
<entry typeCode="COMP">
{observation classCode="0BS"
moodCode="EVN">
{code code="CR11800"
codeSystem="1.2.392.200119.9.5.2000” codeSystemName="JMIX" displayName="CRP"/>
text> A A AN text>
{effectiveTime
value="20070103" />
<value xsitype="PQ”
value="150" unit="mg/dl" />
<entryRelationship
typeCode="COMP">
<{observation
classCode="0BS"” moodCode="EVN">
<{code
code="CR11860" codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JMIX" displayName="HE L H)
/>
<value
xsitype="BL" value="false” />
<{/observation>
<{/entryRelationship>
{referenceRange>
<{observationRange
classCode="0BS" moodCode="EVN.CRT ">
<text>200-
300</text>
<{/observationRange>
</referenceRange>
</observation>
{entry>
{entry typeCode="COMP">
<observation classCode="0BS"
moodCode="EVN">
{code code="CR11810"
codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JUMIX" displayName="fRR /37" />
{ext> A AAAtext>
{effectiveTime
value="20070103" />
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